
Daily Math Review Week 12  Name_______________   
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Which power of 10 

multiplied by 0.23 

is equal to 230? 

   

A.  10 

B.  10​2 
C.  10​3 

D.  1,000 

Estimate AND solve 

the following: 

It takes Jupiter 11.9 

years to orbit the sun. 

Saturn takes 17.6 

more years than 

Jupiter to orbit the 

sun.  How long does it 

take Saturn to orbit 

the sun? 

Terri added 112.85 and 

0.536. She found the 

sum to be 118.21. Was 

she correct? Explain 

what mistake she 

made. Then write the 

correct answer. 

Write the 

following number 

in expanded form 

(use exponents 

and fractions). 

178,256.21 
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______ is 10 times as 

much as 40 

 

60 is _______ of 

6,000 

 

800 is _______ of 

8,000 

 

700 is ________ times 

as much as 70 

______ is  of 

9,000 

How would the value 

of the following 

number change if 

you added 10¹ to it? 

6,982.437 

 

Estimate AND solve the 

following: 

 

   47.09 + 32.5 

 

 

 

 47.09 - 32.5 

Compare.  Use <, 

>, = 

 

0.03  _______ 0.3 

 

10-6÷2 __(10-6)÷2 

 

  14.8  ______ 1.48 

 

  5.718  ____ 5.781 

 

(9+8)x3 ___ 9+8x3  
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Jack’s mother 

bought a loaf of 

bread for $2.95 and 

cheese for $3.60 to 

make grilled cheese 

sandwiches.  How 

much did she 

spend?  

***Draw a model to 

solve. 

Find the value 

 

28.9 x 10​2 ​
= ______ 

 

0.35 x 10​1​ = ______ 

 

571.3 ÷ 10​3​ =_____ 

 

650.8 ÷ 10​2​ = _____ 

Add the product of 6 

and 5 with the quotient 

of 20 and 4. 

 

A.  6 x (20 ÷ 5) + 4 

B.  (6 + 5) x 20 ÷ 4 

C. (6 x 5) + (20 ÷ 4) 

D.  (6 + 5) x (20 ÷ 4) 

Jessie bought a 

poster for her 

room. It cost 

$3.65 and she 

received $6.35 in 

change.  How 

much money did 

she give the 

cashier? 
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How would the 

decimal move in the 

following problem? 

     4.5 ÷ 10 ​2 ​
= 

A.  2 places to the 

right 

B.  1 places to the 

left 

C.  3 places to the 

right 

D.  2 places to the 

left 

How many times 

greater is the value 

of ​a​ digit in the 

tenths place than 

the value of that 

same digit in the 

hundredths place? 

Write in word form: 

  4,501.73 

 

Find the value: 

 

  8 – 6 + 4 x 9 ÷ 3  

 


